restart;
wi t h( Li near Al gebra) :
M:= <<5,0,0, 0> <0,1,0,0>|<0,0,2,0><0,0,0, 1>>;
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> Determ nant (M ;
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> Determ nant (N);
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> Ei genval ues(M;
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[> with(linalg):
War ni ng, the previous binding of the nane GranSchm dt has been
renmoved and it now has an assi gned val ue

=> mul tiply(M v);
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(> miltiply(MN;
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[> f:=t->[cos(t),sin(t),t]:
f=t—[cos(t),sin(t), t] (16)
(> map(limt,f(t),t=0):;
[1,0,0] a7
(> fprinme: =map(diff,f(t),t):
fprime == [ -sin(t), cos(t), 1] (18)
_> g:=t->[-sin(t), cos(t), 1];
g :=t—[-sin(t), cos(t), 1] 19
> g(0);
[0, 1, 1] (20)

_> wi th(plots):
Warni ng, the nane changecoords has been redefi ned




> spacecurve([cos(t),sin(t),t],t=-2*Pi..2*Pi);

> v:=[-sin(t), cos(t), 1];
v = [ -sin(¢), cos(t), 1] 21)

> norm(v, 2);

J 1 +sin(0)f + [cos(£) 22)
> Int(norm(v, 2),t=0..2*Pi)=int(normv, 2),t=0..2*Pi);

271
[ J 1 +pin(0)f +cos(e)f dt=2J2 = (23)
-0
> normalize(v);
B sin(t) cos(?) 1 ”4
J1+sin(0f +cos(eff 1 +sin(e)f +lcos(r)> 1 +[sin(2) +[cos( )P @4

> T.=t->vector([-sin(t)/(1l+abs(sin(t))”2+abs(cos(t))"2)"(1/2), cos
(t)/ (1+abs(sin(t))"2+abs(cos(t))”2)"(1/2), 1/(1l+abs(sin(t))”"2+
abs(cos(t))"2)"(1/2)]);



sin (1) cos(?) 1

T=1—| - 25
J1+pin(0f +cos(t)f 1 +sin(e)f +lcos(e)f 1 +[sin(z)f +[cos(2)P @)

> T(0):
0 %ﬁ %ﬁ (26)

:> restart;

> with(plots) :

| Warni ng, the name changecoords has been redefined

> spacecurve([1/4*3*cos(t)+1/4*cos(3*t), 1/4*3*sin(t)-1/4*sin(3*t),
0],t=0..2*Pi);







